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Note to the students:- All the Questions are compulsory and carry equal marks .      
	Q1. 
	If x(n) is a complex valued sequence given by x(n)=xR(n)+jxI(n), then what is the DFT of xR(n)?

	Option A:
	∑Nn=0xR(n)cos2πknN+xI(n)sin2πknN

	Option B:
	∑Nn=0xR(n)cos2πknN−xI(n)sin2πknN

	Option C:
	∑N−1n=0xR(n)cos2πknN−xI(n)sin2πknN

	Option D: 
	∑N−1n=0xR(n)cos2πknN+xI(n)sin2πknN

	
	

	Q2.
	If x(n) is real and even, then what is the DFT of x(n)?

	Option A:
	∑N−1n=0x(n)sin2πknN

	Option B:
	∑N−1n=0x(n)cos2πknN

	Option C:
	-j∑N−1n=0x(n)sin2πknN

	Option D:
	∑N−1n=0xR(n)cos2πknN+xI(n)sin2πknN

	
	

	Q3.
	What is the circular convolution of the sequences X1(n)={2,1,2,1} and x2(n)={1,2,3,4}?

	Option A:
	{14,14,16,16}

	Option B:
	{16,16,14,14}

	Option C:
	{2,3,6,4}

	Option D:
	{14,16,14,16}

	
	

	Q4.
	The total number of complex multiplications required to compute N point DFT by radix-2 FFT is?

	Option A:
	(N/2)log2N

	Option B:
	Nlog2N

	Option C:
	(N/2)logN

	Option D:
	Nlog2N*N

	
	

	Q5.
	The total number of complex additions required to compute N point DFT by adix-2 FFT is?


	Option A:
	(N/2)log2N

	Option B:
	Nlog2N

	Option C:
	(N/2)logN

	Option D: 
	Nlog2N*N

	
	

	Q6.
	Which of the following is the correct relation between ω and Ω?

	Option A:
	Ω=ωT

	Option B:
	T=Ωω

	Option C:
	ω=ΩT

	Option D: 
	Ω=-ωT

	
	

	Q7. 
	In which of the following transformations, poles and zeros of H(s) are mapped directly into poles and zeros in the z-plane?


	Option A:
	Impulse invariance

	Option B:
	Bilinear transformation

	Option C:
	Approximation of derivatives

	Option D: 
	Matched Z-transform

	
	

	Q8. 
	If s=σ+jΩ and z=rejω, then what is the condition on σ if r<1?

	Option A:
	σ > 0

	Option B:
	σ < 0

	Option C:
	σ > 1

	Option D: 
	σ < 1

	
	

	Q9.
	Why is it desirable to optimize frequency response in the transition band of the filter?

	Option A:
	Increase side lobe

	Option B:
	Reduce side lobe

	Option C:
	Increase main lobe

	Option D: 
	Reduce main lobe

	
	

	Q10. 
	Which of the following windows has a time domain sequence h(n)=1−2/n−M−12/(M−1)

	Option A:
	Bartlett window

	Option B:
	Blackman window

	Option C:
	Hanning window

	Option D: 
	Hamming window

	
	

	Q11. 
	Which of the following window is used in the design of a low pass filter to have a frequency response as shown in the figure?
[image: https://lh5.googleusercontent.com/tt4AUthN2QlaCPD1Jv9VkertwSW9HqEcH-i7Sm3Yszid4w__VYbmzlB3YdyhynKb0CJ9dVZFied7sCiwdXcJmPQ3QoqDy23jzggUYfUe9M6uF__dXGmyCH4p8_D5mA1kwAMbuU6Jo9Hi-Go2bQ]

	Option A:
	Bartlett window

	Option B:
	Blackman window

	Option C:
	Hanning window

	Option D: 
	Hamming window

	
	

	Q12. 
	Interpolators can be used to

	Option A:
	reduce the sampling frequency

	Option B:
	Increase the sampling frequency

	Option C:
	Reduce the sampling rate

	Option D:
	Increase the sampling rate

	
	

	Q13.
	In polyphase filter, which kind of realization is/are adopted for three sub filters possessing coefficients?

	Option A:
	Cascade

	Option B:
	Parallel

	Option C:
	Direct

	Option D: 
	Indirect

	
	

	Q14. 
	In polyphase filters, the subfilters which share a common delay line results in the reduction of the storage requirement by factor

	Option A:
	1

	Option B:
	2

	Option C:
	3

	Option D: 
	4

	
	

	Q15.
	How is the operating level of sampling rate for the subfilters involved in the polyphase filters?

	Option A:
	Low

	Option B:
	Moderate

	Option C:
	High

	Option D: 
	medium

	
	

	Q16. 
	 If X(z) is the z-transform of x(n), then what is the z-transform of interpolated signal v(m)?


	Option A:
	 X(zI)

	Option B:
	X(z+I)

	Option C:
	X(z/I)

	Option D: 
	X(zI)

	
	

	Q17.
	What is the folding frequency for the aliased version of x(n) with sampling rate F?

	Option A:
	F/D

	Option B:
	F/4D

	Option C:
	F/2

	Option D:
	F/2D

	
	

	Q18.
	To what value should the bandwidth of x(n) has to be reduced in order to avoid aliasing?

	Option A:
	F/D

	Option B:
	F/2D

	Option C:
	F/4D

	Option D: 
	F/2D

	
	

	Q19. 
	In Von Neumann architecture, which among the following handles all the operations of the system that are inside and outside the processor?


	Option A:
	Input Unit

	Option B:
	Output Unit

	Option C:
	Control Unit

	Option D: 
	Memory Unit

	
	

	Q20.
	Which of the following is common independent variable for speech signal, EEG and ECG?


	Option A:
	Time

	Option B:
	Spatial coordinates

	Option C:
	Pressure

	Option D:
	Frequency.

	
	

	Q21.
	In DSP Processor, what kind of queuing is undertaken/executed through instruction register and instruction cache?

	Option A:
	Implicate

	Option B:
	Explicate

	Option C:
	Both a and b

	Option D: 
	None of the above

	
	

	Q22. 
	Which IS NOT conditions made digital signal processing more advantageous over analog signal processing?

	Option A:
	Flexibility

	Option B:
	Accuracy

	Option C:
	Storage

	Option D: 
	ALU

	
	

	Q23.
	Which property does y(t)=x(1-t) exhibit?

	Option A:
	Time scaling

	Option B:
	Time shifting

	Option C:
	Reflecting

	Option D: 
	Time shifting and reflecting

	
	

	Q24. 
	What is the physical device that performs an operation on the signal?


	Option A:
	Signal source

	Option B:
	System

	Option C:
	Medium

	Option D: 
	channel

	
	

	Q25.
	In CPU structure, where is one of the operand provided by an accumulator in order to store the result?

	Option A:
	Control Unit

	Option B:
	Arithmetic Logic Unit

	Option C:
	Memory Unit

	Option D: 
	Output Unit



1 | Page

image1.png
0000 2000 4000 6000 000 1000,




